[ number of missing inner layers |
1e - - —| Entries 60830
E : : + | Mean 1.833
r : : : |std Dev 1.436
_ : : : ; T
10 1§_ """" s T **Entries 61968
F - : Mean 1.893
o . . |Std Dev 1.468
2L . 1 eieiiiiteiiiee...
10 E : ¢ [Entries 61498
F ' ' Mean 1.886
3' N . |.Std Dev 1.468
10°F AR HARRREREE A AR
107 R S R
10—52_ ________ e U P Broeeeenes s
.91()‘:(2_....!.. II
T i : :
| SLRLTLe :*5 ------------ SEEITEILRITEILRITED
s : :
| e S SRR = 1 TRERR preeeeeees preeeees
B+ : : :
0 5 10 15 20 25

mean hi

[ number of missing outer layers |

1, - —{ Entries 60830
E : + [ Mean 0.1679
F : : |std Dev 0.5415
101k . —— |
E : : " TEntries 61968
F Mean 0.1658
- N . N N . . | Std Dev 0.54
C] I E, H Veeeeteiiito..iiooo]
10 E : : : : . [Entries 61498
F ' Mean 0.1666
3 r . . |.Std Dev 0.5412
10°F ; .
107 ; h
10 e !
OYars ) INVTE FRUTE ITE FEVVE IFETY IF U FRUTY TUH FUUTE PP
r : —4—
o .
r + — | 4=
0.955 b o
0 1 2 3 4 5 6 7 8 9 10

= DQM_original_step2_ttbar-phasel-newgeom
=== DQM_pixelCPE_step2_ttbar-phasel-newgeom

— DQM_pixel CPEANdChi2_step2_ttbar-phasel-newgeom

20

= 20
0 L
> L
A 18
2 C
= L
Vv
o 1w
I
o
4
0.95L
=3

Entries 133002
.| Mean 2.164
Std Dev 6.079
: |
Entries 133002
Mean 2.164
Std Dev 6.079
: I
Entries 133002
Mean 2.164
6.079

Std Dev

Ratio

0.95

Ratio

10°

10?

10

3 Entries 60830
Mean 13.4
Std Dev 3.772

L T
. T
Entries 61968
E Mean 13.22
F Std Dev 3.768
] Entries 61498
N ] 13.21
- 3.776

40
track hits

Entries 214305
Mean 1.065
Std Dev 7.381
"""""""""""""""""" T
Entries 214183
Mean 1.044
Std Dev 6.584
"""""""""" g T
Entries 213850
Mean 1.046
I R Std Dev 6.529

107+
1= N
0.9F- 4 g
8 i i v
10 1 10 10 track



	Contents
	Page 1


